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1- How many grams of a drug substance are required to make 120 mL
of a solution each teaspoonful of which contains 3 mg of the drug
substance?
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2- . The formula for AURALGAN, an otic solution, is:
Antipyrine 54 mg
Benzocaine 14 mg
Glycerin, dehydrated ad 1mL
If a dropper delivers 20 drops/mL, how many milligrams of
benzocaine would be delivered by a 3-drop dose of the solution?
. drops 20 J<&5 e Jdsaml 1 JS
. drop 1 Js&ml x Js
(33l e )y ml 0.15 =drops 3 4xsml 0.05=1/20 = X
OES55amg 14 gsisd e Jslse ml 1 U8
S mg X il sue Jslsaml 0.15 JS
oSSs5umg 2.1=14x0.15=X



3- If a liquid medicine is to be taken three times daily, and if 180 mL
are to be taken in 4 days, how many tablespoonfuls should be

prescribed for each dose?
. ml 180 = Total quantity
doses 12 =4 x3 « day /3 = Number of doses
. tablespoon 1 = ml 15 = 180/12 = Size of dose
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. The dose of a drug is 500 mcg/kg of body weight. How many
milligrams should be given to a child weighing 55 Ib.?
2l IS KImg p = 0.5g 500 = 48 sall Ae sl
kg 25=2.2/55=Caal O
mg 12.5 =0.5 x 25 =405l dc jal)

. The dose of gentamicin is 2.5 mg/kg administered every 12
hours. What would be the daily dose for a newborn weighing 5.6
Ib.?
el 128 mg 6.36 =2.5 x (5.6/2.2) =45 sl de jall
.MQ 12.7 =6.36 X 2 = e 53l dc sall

. A patient weighing 120 Ib. was administered 2.1 g of a drug
supposed to be dosed at 30 mg/kg. Was the dose administered

correct, or was it an overdose, or was it an underdose?
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